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3. (a) A smooth sphere P, of mass 3m, moving U Onls.

with speed u, collides directly with a P Q
smooth sphere Q, of mass 13m, which is @ @
at rest. Sphere Q then collides with a

vertical wall which is perpendicular to the direction of motion of the spheres.
The coefficient of restitution for all of the collisions is e.

Find
@) the speed, in terms of u and e, of each sphere after the first
collision
(ii)  the range of values of e for which there will be a second
collision between the spheres.
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